
Ysgol y Creuddyn Yr Adran Fathemateg 

@mathemateg   Tudalen 1 

Taflen Waith Degolion: Gwerth Lle 

Enw: ...................................................................................................................................................... 

1. O wybod bod 514 × 36 = 18,504, cyfrifwch: 

(a) 5.14 × 3.6         (b) 1850.4 ÷ 5.14 

 

 

 

 

 

 

 

 

 

 

2. O wybod bod 842 × 574 = 483,308, cyfrifwch: 

(a) 84.2 × 5.74        (b) 48.3308 ÷ 57.4 

 

 

 

 

 

 

 

 

 

 

3. O wybod bod 26 × 842.1 = 21,894.6, cyfrifwch: 

(a) 0.26 × 8421        (b) 218,946 ÷ 0.26 

 

 

 

 

 

 

 

 

 


